el AR
ﬁ é ﬁ Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuacio:
8,04 x 10 = 3,12x 10 =
7,171 x 1000 = 5,342 x 10 =
1,518 x 100 = 2,819 x 100 =
5,71 x 1000 = 5,991 x 1000 =
9,604 x 100 = 9,505 x 10 =
8,875 % 10 = 3,961 x 100 =
1,662 x 10 = 5,414 x 100 =
10,691 x 10 = 3,425 % 10 =
8,441 x 100 = 5,303 x 10 =
4,745 x 1000 = 4,137 % 100 =
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0 AR
% @ ﬂ Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuacao:
8,04 x 10 = 80.4 3,12x10=312
7,171 x 1000 = 7171 5,342 x 10 = 53.42
1,518 x 100 = 151.8 2,819 x 100 = 281.9
5,71 x 1000 = 5710 5,991 x 1000 = 5991
9,604 x 100 = 960.4 9,505 x 10 = 95.05
8,875 x 10 = 88.75 3,961 x 100 = 396.1
1,662 % 10 = 16.62 5,414 x 100 = 541.4
10,691 x 10 = 106.91 3,425 x 10 = 34.25
8,441 x 100 = 844.1 5,303 x 10 = 53.03
4,745 x 1000 = 4745 4,137 % 100 = 413.7
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